s T2 2020 SHE
2/9 [4 [45 /3 [delx [2gus [434%
5/22 |1 |P&E EA™ |p.15 | 4955 A9 WE 2 B, D — 49 ’iS 7 B, C
6/7 |1 |PAEE FAY | p.112 | &A3 A7l — A7l
G e dxe oheat go] e
1 )1 1 11
e _ 1 . — _
6/17 |1 |v=E2 ML [p.17 | EA4T hln{( @) } i }Efglﬂ{(l—x) } =lne '=—1
G¥e] T o —12 e,
4
6/17 |1 |wisez S| p18 | RAUS | o) g ¢ Sold — 5= BT (W sh¥e ohet EE oot 2o] 4%
6/27 |1 |u|AHE1 EA | p.230 | HA524 | (@ ololA Al Wi 2) F(a?)— fla?) — F(z?)— Fa?)
6/27 1 |viHE1 A |p2d5 |BE [ Sl ol A B A= 0 o ar= D0
@we] e ohgat o] UL (5, flo) =204 flo) =z +15 vl Z19uc))
2 A3
(HH‘%D
= G fla), gle)e) BHale] theat 2k sk,
1 ($>0
fl@)=z+1, glx { (x<0)
79 |1 |mARL 47 | p.104 |23 | Ol B fle)i A AR ARelH Akl T g(a)t o =004 Bikolr),
lim flz)g(z)=1x1=1,
r—0+
lim f(z)g(z)=1x0=0
r—0—
olEE T fla)g(e) =004 TGS 2] ghect
o] Aol T Holel Slted
g fla)gle)= o =00 Beidolrt,
(W9 aAde ohaat o] AT
(3) /cos3$dx:/cos a:cosxda::/ (1—sin’z)coszdz
Shc) ENA =] :/(1—t2)dt:t—lt3+02 i :L‘—l in‘z+C
7/11 |1 |uEE 4% | p.63 | EAI8 3 sinz — 7 sin
(" sinz =t&2 T cosvdr = dt)
(9)He] TS sinx—ésin3x+6§ 88 et
(1)9] 2] YRE that} 2ol At
r=09 W t=4, z=1% 1 =90z
319
7/11 |1 |w&Re AR | p.250 |JA16 _ 2 }:E
/ | 14250 |46 | [ao i Tin= 5 [ i 10[3 -
JEm e 2 AR
8/15 |1 |uHE AEA | p.63 | FATL |5 y=20" —62+12] S 300 52 A (& 53]
2
G [ 22 [ =41 o), [ 13220 B2 47 G 12,
8/15 |1 |m=E1 A7 [p.87 | EA4T ’ ’
ge Dol oz 4G 22d)




